
Appendix 1 Biological Science concepts Understanding test 
English 

Title of the research: a Study of Biological Science Concepts of Students at Senior 
Secondary Level 

Name:Class: 
Gender: Maleo FemaleoMedillm: Hindi DEnglish D 
School: . 
Board: . 
Area of living: RllraloUrbano 
Parenr's annual income:- 
Have you attending classes other than school: Yes DNo 0 

Personal inforrnation 

Instructions: 

1. All provided informations will be kept confidencial and solely will be used only for 
research purpose. 

2. Please choose correct answer/answers from the given options. 

Details of Researcher: 
Name: Shashank Narndev. (Integrated B.Ed.-M.Ed. 3rd 
year) 
Institute: Regional Institute Of Education, NCERT, Bhopal 
Email: shashanknallldev45@gmail.com.Mob.-9519777829 

Question 1. which among the following is in the right chronological order'? 

A. Cell>Nucleus> Chromosomes> Genes D 
B. Cell> Chromosomes> Nucleus> Geneso 
C. Nucleus> Cell> Chromosomes> GenesD 
D. Chromosomes> Cell> Nucleus> Genes 0 

Question 2. If the parent skin cells contain 8 chromosomes each. what number 
otchrornnsnmcs do you think the each newdaughterskin cell would contain'? 
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A. 8 0 
C.2 0 

B.4 
D.16 

o 
o 

Question 3, Genetic information in new skin cells and the parent skin cells is? 

A. Same 0 
C. Don't know 0 

B. Depends on conditions 
D. Different 

o 
o 

Question 4, Animals havernitosistor gnnvth, what do you think about growth of plants'? 

A. It is same as animals DB, They grows by meiosis 0 
C. By mitosis and meiosis both oD. 0 idea 0 

Question 5, If the parenteggcell contained the chromosomes 4 in number, what 
chromosomes do you think the daughter egg cell would contain'? 

A. Twice the original number 0 
B. The original number ;0 
C. Half the original number 0 
D. Don't know 0 

Question 6, A sudden change in the gene which IS heritable from one generation to 
another is known as? 

A. Variation o B. Cloning 0 

C. Transcription o D. Mutation 0 

Question 7, What is Genetics? 

A. study of heredity and variations 
C. Name of a book 

o 
o 

B. Process 0 
D.Method 0 

Question 8, Chromosomes can be seen 

A. Anytime 0 
C. Only In daytime 0 

B. At the time of Cell division 
D. No Idea 

o 
o 

Question 9, Who is responsible for a child's Gender? 
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A. Father 
C. Both father and mother 

o 
o 

B. Mother 
D. God 

o 
o 

Question 10. Living body is composed of 

A. Cells 
C. Organs 

o 
o 

B. Tissues 
D. Organ systems 

o 
o 

Question 11. Elephants have bigger size because 

A. They have plenty number of somatic cells 0 
B. Their cells are or large size 0 
C. They have blessings of God '0 
D. Nothing can be said 0 

Question 12. Which cellorganelle is nonliving'? 

A. Nucleus 0 
C. Mitochondria 0 

B. CcII wall 
D. Ribosomes' 

o 
o 

Question 13. Which cell organelle contains genetic information? 

A. Plasma membrane 
C. Chloroplast 

o 
o 

B. Nucleus 
D. Mitochondria 

o 
o 

Question 14. Which part of the cell is called 'Director of the ceil'? 

A. Plasma membrane 
C. Chloroplast 

o 
o 

. B. Nucleus 
D. Mitochondria 

o 
o 

Question 15. Information within DNA is 

A. 1024 GB 
B. More than Wikipedia 
C. Cannot be quantified 
D. D A has no information 

o 
o 
o 
o 
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Question 16. Choose the correct statement"! 

A. Plants and animals follow same genetic laws 
B. Plants and animals follow different genetic laws 
C. Only animals follow genetic laws 
D. Only plants follow genetic laws 

o 
o 
o 
o 

Question 17. The tendency of an offspring to resemble its parent is kuown as 

.:\. Variation 0 
C.Resemblance 0 

B. Heredity 
D. Inheritance 

o 
o 

Question l~. The geometrical device that helps to find out all the possible combinations 
of male and female gametes is known as 

A. Bateson Square 
C. Punnett Square 

o 
o 

B. Mendel Square 
D. Mendels Cube 

o 
o 

Question 1'). In human right handedness is dominant over left handedness. What 
offspring \\ uuld he expected from two left handed parcuts.- 

\. Only left handed 
c. I.LF·I and rig.ht handed both 

o 
o 

B. Onlv right handed 
D. Neither len nul' right handed 

o 
o 

Question '::0. Which among the followingis a dominant trait'? 

A. Colour hlindncss 
C.fkmophilia 

o 
o 

B. Albinism 
D. Rh factor 

o 
o 
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Appendix 2 Biological Science concepts Understanding test 

ftcft ~1ql~ 
1. ~~q:m~? 

(CD.) Cf)1~ICbI > ¢~Cb > JjOI~~ >\JlR 

(&.) Cf)1 ~I Cb 1 > 4]01 {i~ > ¢~Cb > \JlR 

(11.) ¢~Cb>Cf)I~ICbI >j]OI~~>\JlR 

(U.) JjOI~~ > Cf)1~ICbI > ¢~Cb > \JlR 

2. ~~ (Cftff Cf)1~1Cf)1 -q 8 101~::t ~ m qdl~~ ~ (Cftff 
Cf)1~1Cf)1 -q f¢do"i 101~::t ~ ? 

(CD.) 8 (&.)4 (11.) 2 (U.) 16 

3. ~ Cf)l ~I Cf) I ~ ~ CCfm Cf)l ~I Cf) I -q ~iFIl Q ~? 

(Cf).) tn=lR (&.) ~ LR f.i~ ~ (11.) LfclT ~ (U .) dfWT -dfWT 

4. \1lg3iT -q ~ -ij;- ~ til1~~ Fcr'lfT\iFT ~ ~, tfttiT -ij;- ti~Oli! -q 
qdl~? 

(Cf).) <:fQ ~'* ~ ~ tt Qt:rr ~ 1 (&.) <TI-3irsf*i;i) fu~ ~ ~ ~ ~ 1 

(11.) ~ cfr;:IT fu~ ~ % 1 (U.) ~ ~ LfclT 

5. ~ ~ 3fID Cf)1~1Cf)1-q 4101~::t ~ m qdl~~ ~ 3fID Cf)1~1Cf)1 -q 
f¢do"i 101~::t mit 

(CD.) 1=@" -# ~ (&.(sHlcil'! (11.) ~ -# 3fT£:! (U.) LfclT ~ 

6. ufi;r -q 3i:q H Cf) ~ ~ QTffi 3i I jd ~I Cf) q ~ q J9i Cf) ti cll dl ~? 

(CD.) fufucc.rcn (&.) CR1I f."l j 1 (11. ) ~ fd 8 '<9 'i (U.) \3 (ll ~ C1 J'i 
7. 3iljd~ICf>'1 q:m~? 

(CD.) d ~ II J I fd ~ fufucc.rcn '* cpr Jf£IT[Ff (&.) ~ Rb [j I (11.) FcP (11 cil Cb I'i I Lj (U.) fuftr 
8. 101~::t Cf5T~\iff tiCf)dl ~ 

(CD.) Cf)~ ~ (&.) Cf)lfQlCbI fu~ ~ ~ (11.) ~ ~ -R (U.) ~ LfclT 

441 



9. 'Ho:c1Ri "$ fffrr em ~uRur Cf5~dl ~? 
(cp.) Rrcn ~.) l=ffclT(lT.) mm ttrcrr ~ (tT) {5lJX 

10. \Jft~d ~1:fl~ciI'iI$ldl~? 

(cp. ) Cf) 1 fQ I Cf> I '* ~ «:9.) \3? Ci Cf) I· ~ (IT.) J.frIT ~ (tT) 3i I I Ci '-vi, ~ 
11. QT~ em ~ ~ Q)or ~ ct4)'f&> 

(cp.) ~ ~ B J.fftrcp ~"R *1IAlrLJ Cf),fQlCf>IQ ~ ~ 
89.) \3 'i cpj Cf), fQ I Cf> I J{f cpr 3ffCf>R ~ men ~ 
(1) ~ {5lJX Cf)f 3i1s<DClk ~ ~ . 
(U.) ~~~\Jff *1Cf>CiI 

1 2. ct>" ~I Cf51 em ctft;:r m 1-fT1T ~ Gffu Q)or ~? 
(Cf).)<t~Cf> «:9.) Cf),fQlCf>1 f4fd (IT.) AI~clCf>y~[j1 (tT) '<1~(Sj''BIA 

13. ct>"~ICf5I"$ fctR:f mTT l) 3iljd~lCf5 '<ii1'iIQ m-at~? 
(Cf),)LC1I\Jii1 ~ ("&,) ct~Cf> (11,) ~ ~ (U) AI~clCf>y~[j1 

14. ct>" ~I Cf51 "$ fctR:f mTT q;1 ct>"I ~I Cf51 cpr ~ ~~I Cf5 Cf)QT \iJTdl ~? 

(Cf).)LC1I\Jii1 ~ «:9.) <t~Cf> (11.) ~f.!Ci(1ClCf> (U) AI~c1Cf>~[J1 

15.~~'i~ l) '<ii1rtl m-at ~? 
(Cf).)1 024 ~ ~.) fclFchcn~[J1 ~ ~ (IT.) \3*1Cf)1 ~ "R ~ ~CiI[J1 \JfT 
*1 Cf> (11 

(tT) ~Q'iQB~~~~~ 

16 .. ~ CJlCltf cpr :qq;:r ctR 

(Cf).) LfI£J ~ \JRj ~ 3iljdfQlCf> f.i[Jm· Cf)f"GTm ~ ~ 

~.) LfI£J JfR \JRj 3i"Wf 3i"Wf 3i 1 jd fQ 1 Cf> f.i [J 1=j'j Cf)f "GTm ~ ~ 

(IT.) <t Cl (1 \Jj <1 3i I jd fQ I Cf> f.i [J 1=i,· Cf)f "GTm ~ ~ 

(tT) ~ LfI£J 3iljdfQlCf> f.i[J111· Cf)f"GTm ~ ~ 

17. 'H o:c1 Ri em 3fCR" 3IT'l-f'l-fTQCf) "$ m ~ cpr • ~? 

(Cf).) ~£.lcIT ~,) dS<lIllR1 (IT,) *1~S<ICiI (U) 3iljdfQlCf>CiI 

45 I 



18. QQ \itllflIdlQ \3qCf)~UI Q<TT ~,\iI) ~ ~ 1OI~t11 9>~1OICf)" $ ~~ 
"fimfcrd ~ 41 \i1 •• ff Cf)llRff t1 J II ~ 1l ~ Cf) ~ d I ~, 

fCf>.) ~c_*H qrf ~.) ~ qrf (IT.) ~ qrf(U) ~ t:R 

19. 1OI1'iq -q ~ QT~"Q1" ~ QT~ umcfi ~I m ~ QT~ $ moT-ftroT ~ 
~ Q Cf) I ~ qft ~ (1 H qft"fi'l-fTCr-1T ~, J fl ? 
(Cf).)~~QTZI~ ~.)~~QTZI~ 

(IT.)~"QCW ~ QTZI qffi CU.) ~ ~ ~ ~ QTZI ~ 

20. Umcfi"t1"&fUT~? 

(Cf).) ~ ~.) Clof~'iCiI (IT.) glBlq)jfdLlI CU.)3fR 10T LpctC'( 
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